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. Which of the following defines a function f for which f(—xz) = —f(z) ?

(A) f@) =2 (B) f(z) =sinz  (C) f(z) =cosz (D) f(z)=e” (E) f(z)=lnz

In(x — 2) < 0 if and only if
(A)z <3 B)0<z<3 (C)2<z<3 (D) xz>2 (E)x>3

If p(z) = (x + 2)(x + k) and if the remainder( 82 2,) is 12 when p(z) is divided by = — 1, then k =
(A) 2 (B) 3 (C)6 (D) 11 (E) 13

The set of all points (ef,t), where ¢ is a real number, is the graph of y =

(A) ei B)er  (C)wet (D) ﬁ (E) Inz
If f(z) = i . and g(z) = 2z, then the solution set( #2EE5) of f(g(z)) = g(f(x)) is

wlyl me om o ®{5e)

If the function f is defined by f(z) = 2° — 1 then f~', the inverse function of f is defined by f~*(z) =

1 1 5 5 5
B) == ) Vz—1 O Jz-1 (E) Jri1

If f(z) = 2%+ 322 + 42 + 5 and g(x) = 5, then g(f(z)) =
(A) 522 + 150 +25  (B) 52% + 1502+ 20z +25  (C)1125 (D) 225  (E) 5

If f(z) = e, which of the following lines is an asymptote( ¥[34 ) to the graph of f
A)y=0 B)z=0 (Cy=z D)y=-z (E)y=1

Which of the following equations has a graph that is symmetric with respect to the origin?

(A)y:xl—l (B) y=—12°+ 3z (C)y=a*—-222+6 D)y=(r—1)3+1

(E) y=(22+1)2 -1

If f(z) =223+ Az® + Bx — 5 and if f(2) = 3 and f(—2) = —37, what is the value of A 4+ B?
(A) —6 (B) -3 (C) -1 (D) 2 (E) It cannot be determined from the information given
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Let f(z) = |sinx — 2‘. The maximum value attained by f is
1 3 s 3
Wy ®1 ©y oI ®F

The domain( 7E #15,) of the function defined by f(z) = In(z? — 4) is the set of all real numbers x such
that

(A) |z| < 2 (B) |z] <2 (C) |z| > 2 (D) |z| > 2 (E) z is a real number

If f(z1)+ f(x2) = f(x1 + x2) for all real numbers x; and o, which of the following could define f ?
1

(A) f@)=z+1  (B) fle)=22z (C) flx)=_ (D) flx)=e" (E) fla) =a?
What is the domain of the function f given by f(z) = ji_:;i

(A) {z:z #3} (B) {z : || <2} (C){z:|z| > 2} (D) {z:|z|] >2 and z # 3}
(E) {:2>2 and x # 3}

1
Iflnz —In(=) =2, then z =
x

e? e

If the function f is defined by f(z) = % then the inverse function, f~*, is given by f~'(x) =
x

r—1 z+1 T T

(B) (©)

T T 1—x

(A)

Which of the following does NOT have a period(#8H ) of 77
(A) f(z) = sin(z/2) (B) f(z) = |sinz| (C) f(z) =sin*z (D) f(z) = tanz
(E) f(z) =tan?2

4 cos(z + g) =

(A) 2v/3cosz —2sinx (B) 2cosx —2v/3sinx (C) 2cos x4+ 2v/3sinx (D) 2v/3cosz +2sinx
(E) 4cosx + 2

Let f and g be odd functions( &FEKEL ). If p,r, and s are nonzero functions defined as follows. which
must be odd?

L p(z) = flg(x))

I r(z) = f(z) + g(x)

I s(x) = f(r)o(a)

(A) I only (B) II only (C) T and II only (D) II and III only (E) I, I1, and III

If f(z) = e”sinx, then the number of zeros of f on the closed interval [0, 2] is
Ao ®B1 (€2 M3 (E)4




